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COMMERCE
( For Non-Honours )
Paper : CC—403
( Cost Accounting )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. (a) Choose the correct answer : 1x4=4

(i) Cost Accounting is concerned
with

(1) external transaction
(2) internal transaction

(3) both internal and external
transactions
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(b)
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(2)
(ii) Material control does not ensure
(1) right quality
(2) right quantity
(3) right sales

(iii) Variable overhead cost is a/an
(1) period cost
(2) committed cost
(3) output cost
(iv) The procéss costing is not used

in which one of the following
industries? '

(1) Cement
(2) Textile -
(3) Chemical

Write True or False :

(i) Administration
mostly fixed.

1x4=4

expenses  are

(i) High labour turnover rate denotes
good human relations.

(iiij) Depreciation is a semi-variable
expense,

(iv) Income tax is provided in Cost
Accounts only.

( Continued )

2. Write short notes on (any four) :

@
)
(0
(@
(e)

(b)

P23/1175

4x4=16
Ideal costing system
Stores ledger

Time rate system

" Overabsorption of overhead

Unit costing

Define Cost Accounting. Why is Cost

Accounting necessary? Distinguish
between Cost  Accounting and
Financial Accounting. 2+4+6=12

Or

Mr. Jogesh furnishes the following data
relating to -the manufacture of a
standard product during the month of
April 2022 :

Raw materials consumed— 15,000

Direct labour charges—¢ 9,000

Machine hour worked—900 hours

Machine hour rate—¢ 5

Administrative overheads—20% of works cost
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Selling overheads—¥ 0-50 per unit
Units produced—17100 units

Units sold—16000 @ ¥ 4 per unit

You are required" to prepare a Cost
Sheet from the above, showing—

(i) the cost of production per unit;

(ii) profit per unit sold and profit for

the period. 6+6=12
4. @ () A manufacturing company
purchased and issued a certain
material as follows :
Date Details Units Unit Cost
2023 ®)
Jan. 1 Purchases 600 400
» 4 Purchases 300 420
» 6 Issues 500 —
» 10 Purchases ' 700 - 440
» 15 Issues 800 —_
- » 20 Purchases 300 500
» 25 Issues 100 —

Prepare a Stores Ledgér Account
from the above information
applying Weighted Average Method. 6

(ij) Distinguish between LIFO and
FIFO methods. 5
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Or

() From the folloiving particulars, you are
required to workout the earnings of a
worker for a week under—

(i) Straight Piece Rate;
(ii) Differential Piece Rate;
(iii) Halsey Premium Scheme (50%

sharing);
(iv) Rowan Premium Scheme : 2+3+3+3=11

.-

Weekly working hours—48

Hourly wage rate—& 7-50

Piece rate per unit—% 3-060

Normal output per week—120 pieces
Time taken per piece—20 minutes
Actual output for the weeks—150 pieces

Differential piece rate—80% piece rate when
output is below normal and 120% of piece rate
when output above normal

5. (@) What are the different methods of
absorption of factory overhead? Discuss
any of the two methods of such
absorption. 3+4+4=11
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(6 )

Or
(b) Calculate the Machine Hour Rate from

the following data :- 11 _ . .
: cost per kilometre of a vehicle under
Cost of machine—¥ 1,00,000 - transport ‘costing :
Installation charges—¢ 10,000 | Voo
. : . . Value of vehicle—¥ 1,50,000
Estimated scrap value after the expiry of its
life (15 years)—& 5,000 ‘ Road licence fee per year—@ 5,000
Rent and rates for the shop per month—& 200 . N #1.000
General lighting for the shop per month— 300 nsurance charges per year—¢ 1,
Insurance premium for the machine ‘ Garage rent per ypar—? 6,000
per annum—~¥ 960 | .
Repairs and mainténance expenses . | Driver's wages per month—¥2,000
per annum—¢ 1,000 Cost of petrol per litre—® 86-50
Power consumption—10 units per hour - . .
Rate of power per 100 units—® 20 Kilometre covers per litre—8 km
Estimated working hours per annum—=2200 hours Proportionate charge for tyre and
this ineludes setting-up time of 200 hours maintenance per kilometre—¥ 20
- %600
Shop supervisor's salary per month—¥ 60( Estimated life—150000 km
. . i
The machine occupies o th of th'e tOt.a‘l Estimated annual kilometreage—6000 km
area of the shop. The supervisor is
expected to devote Zth of his time for Ignore interest on capital
supervising the machine.
/
Describe briefly the main features of 7. (@) What do you mean by reconciliation
process costing. Name the industries of Cost and Financial Accounts? Point
where process costing can be applied. out the reasons for the differences in
~Also compare Process Costing with Job profit as shown by Cost and Financial
Costing. 4+3+4=11 Accounts. 3+8=11
( Continued ) P23/1175 ( Turn, Over )
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- or

(b)) From the following = data, calculate



(8 )

Or

(b) The profit shown in the Financial
Accounts was ¥1,12,870 and for the
same period, the Cost Accounts showed
a profit of ¥27,040. Examination of
the accounts showed the following

(9)

'[ ASSAMESE VERSION ]
TR oreRt

1. (a) w@mﬁ,‘tarfs%ﬁem:.

1x4=4

differences : (i) I8 G wfve 'Z‘( I
Cost A ts Financial Accounts
o e (1) IR RO B
Stock Valuations :
Opening Stocks 2,75,100 2,55,000 (2) TSN G CILS
Closing Stocks 1,82,180 1,87,500
Profit on Sale of Assets _ 8,500 (3) SRR uiF AT IRy G
Dividend Received = 26,350 Te
Imputed Rent Charge 32,500 —
Depreciation 98,260 1,05,200 , (i) gy g FffFee Tw
. Reconcile the profit figures. 11 ‘
(1) 9FS BITS A
(2) 4TS TR AR
(3) s RA
(iij) ST SARIW (TR @&
(1) w=fE 3@
(2) e
(3) el W
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(iv) ABE IR TS S@ER® @Ry @bl
TS IR T ?

(1) oo
(2) I
(3)

Sl @ R Bt 1x4=4
(i) IR TP foove wfteieR 2

(i) Wmmmaﬁwwmn

(iii)) T (TR 3 ¥ Sl va=)

(iv) ST (T I8 GO I U 2

2. 5y G ot (R @ien wifvst) - 4x4=16

(a)
(b)
(c)
(d)
(e)
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wrefars R omfs
Sepape
woiite RS St

9TF IR

{ Continued )

( 11 ),

3. (a) I GIEFoeT @ FEll I8 GIOFHes
TN 527 IB GRS SIF PR
GPIEBed WS I ANYFPFTR S 791 |

2+4+6=12

LA

(b) . Q@O @O IS Af TII SeAMS
2022 R J9fFE W fFwe o Wi
YRR :

4 7 (S FI TF—15,000 531

e ¥ J¥—9,000 Bt

GIfS Tt FIS I =4I FE—900 I

o 751 wa—5 5l

IR o JA—BeoIFH I 20%

R TR ga—afs @3 w1 0-50 5t

GFFS T ARWT—17100 939

933 RER- “RWT—16000 ¢T3 #4fS = 7= 4 T

BHAE SR I e @i I 2o
siffel AT oS I AF @YSIA—

‘(i) zfﬁs 43I ST 4

(ii) éﬂ% G RE® TS q$ TGRS AfRfe
aAre] <ff{gr 6+6=12
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4. (@) (i) <O SARE I TS I P Ry

oy
2023

SRR 1
» 4
» 6

o= 10
» 15
= 20
» 25

T3 e & @ o Rt o -
Res 9T 9T 7Y
(%)
TR 600 400
TRY 300 420
R T w 500 —
TR 700 440
Rt =1 o 800 -
TR 300 500
Rf = o 100 -

TIEE SRR Wl REAGT oI
TaS FE TR G5 Sqer fowi o

FES 4 | 6
(i) LIFO ¥ FIFO *wf3 Ioe o=
ATTPTZ TRl | 5
o
(b) =TS fumt SYTR [l a5 WRFT ALRDI
iRl 419 “fRmig Ny ot 2+3+3+3=11

(i) @2 5 @G 1wy qm

(ii) TR Py @ ~iwfes gt
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(iii) ezt feifam R (50% comifeR)-3 =t
(iv) I RN R At
MF FIN 4 TH—48 THl
oS 251 7GR F—7-50 B
of® 7% et —3-00 T
oifs etz AR BetF—120 Cofb
s coifb BeAiree Jags TE—20 RFG
AZHS 24FS TATA—150 Cilb
Romiae oif6 "—80% cifs v @RS e TIST
S AW W AE 120% Coilb 71 et SReretE
SRS Gt '

5. (a) IR SARIW R RS ooz & 2
G CIER R @I 95 orafey R siieist
Lo fl 3+4+4=11

ol

(b) OO Rl SR o Gft T w9 e
Al
@S’ 5—1,00,000 531
oH I9—10,000 B

Gfoas &Pt (15 I) 7 R Pies Fdifie
wﬁf@g&n—s,ooo’w

IR SISt o1 35 of TE—200 5t .
I SR R ¥g 2 qMz—300 Yt
BTBrR i e g =S TWI—960 T
RIS S GraT I R 2 3g—1,000 Fo

11
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Rigefs ege—afs 995 10 @9 ' 7. (@ IT 9T 8w ok wwe AvEtew fewe

245 100 % Ry R—20 591 & =7 98 @i Ry oo orysal Areq
fdifve TR 751 &fS IE—2200 T R SIIGE] AT FIRPTZ S 3+8=11
T oot #EfS 1 5T 200 51 WEEE 0% WK , I e PR S T 3
I ST T 2ff ME—600 T w31
@I TR 0 aRmie 1 et wieR () Rem fore st et ARmT TF
IR | SHFFFINE G2 @D ST FRITS 1,12,870 T3 W% 0 THS 32 Rpive @]
e e 4 o T R I arsy <Rl 27 27,040 501 | FRpiopmz ~ ¥t
| IR oo AMGIRE ot ot e
6. (a) TR FRET TY RCAPTR G G 74 | 2 Rort Rl o
oy PR UGN @ SooeRE AW S ) )
37| AR IR AT TR IBET TS Tels ToR O :
NS T | 4+3+4=11 * e TeR 2,75,100 2,55,000
, 21y o , AR A 1,82,180 1,87,500
(b) &S Fiml SUPITRT ol Gl TiReT Sese bl oretfs R R Rt - 8,500
Az AfS b @ A fdRa vt . 11 AreIe! A =W = 26,350
IR FT—1,50,000 5t I Sel W 32,500 —
1Y SR Tget 2ffS I%75—5,000 Tl _ L 98,260 1,05,200
A % AfS T-FS—1,000 F
’ ey AR JEbR Aere AfEfes w4t 11
oI ©tet 24f% Iggs—6,000 531 =
e 15 s Ige—2,000 Bt .
e W& ofS fitre—86-50 5 *
#fS foioR® 1y wfees F—8 R
BRI O (I TS T 43R
A RS20 50
iR SIp—150000 ..
i oS 75 {e S ¥—6000 AL
W@WWWWWWI
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